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. Read the text and choose the correct answer.
Where do the writer's grandparents live now?
1. Scotland 2. Australia

b. What did Tom's family do to change their life?

1. They moved to Australia. 2. They couldn’t find a job, so they went back to Scotland.

Who is Barbara?
1. The writer's mum 2. The writer's aunt

What is the difference between the weather in Australia and the weather in Scotland?
1. Australia is hotter than Scotland.
2. It rains more in Australia and it is colder.

When did Tom leave his family?
1. He left his family when he finished university.
2. He left his family when he finished high school.



